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𝑎! = 1	
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Note:	
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= 1	
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  𝑢 = 𝑎!	
  

	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  
By	
  using	
  substitution	
  and	
  using	
  Quotient	
  of	
  Powers	
  Property	
  of	
  Exponents	
  
	
  

1 =   
𝑎!

𝑎!
= 𝑎!!! = 𝑎!	
  

	
  
	
  
Therefore	
  
	
  
𝑎! = 1      𝑜𝑟          1 =   𝑎!	
  
	
  

Example	
  
	
  

4! = 1  
	
  


